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Unit One Culture & Education

Test One
A

N The country’s department of civil affairs is considering 10

change one of the current marmiage procedures which
requires the to-be-married couple’s unit or neighborhood
committees to sign a paper which identifies their status as
being single - . According to the change, the couple will
swear under the supervision of the notary office ( 2+ if
4), their relatives or friends prove that they were

-~ single before marriage .
e reform, likely to be carried out this year, is expected to
simplify the marriage process. However, some people worry that it
may make it hard to prove the truth, while others say it even brings more

trouble to the marriage process.

The procedure under change is the very first step of the present marriage process in
China. The to-be-married couple are supposed to go in person to their companies or
neighborhood committees which keep their hukous( # ), i.e. documents which identify
where they reside.

They will ask their companies or committees to sign two documents: one confirming
their marriage status and the other approving their requirement to marry. The last step is to
go to the local department of civil affairs for marriage registration( %32 ) with all the papers.

Many married couples, especially those whose hukous are not kept in their workplace,
consider the process quite troublesome. They share the contradictory(F & ) feeling that they
almost gave up the idea to marry when they learnt that they had to go through all the
formalities (¥ 4 )for marriage .

“My hukou was in Shenzhen when 1 decided to marry,” said Liu Xiao, a Guangzhou
resident who married a year ago, “I had to ask for two days off to go back there and ask the
neighborhood committee to sign all the papers. The committee had its office hour to handle
such affairs, but it was often closed during that time. At last I spent a week waiting to gel
the papers signed.”

That is only one of the troubles. Some companies or committees even refuse to sign the
papers because they believe that they have the right to approve or not the marriage since
they are given the official right to sign the papers® . Wu Changzhen, a professor from China
University of Political Science and Law, says, “I heard that a company’s leaders refused to
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